TLAVR)—FTZA—F Xk

6 F4

-

6H22H

A FE %8 |BR AZF| AE THNE 5 T2 LK | BE T | 82 99
(INOUE TA) (TGEH) (D ELTC) (M / =T.C) (ARROWS.TS) GZLTS)
== NEANVA] /\\

AE XA | 9000 62 63 TE L 9000 75 46
(INOUE TA) (1M / =T.0)

_ﬁ'_/_:.\ == L‘\__‘" /\/J\

BEOAXRT] 9 0000 26 TR 57 OO0 36
(TGEH) (ARROWS.TS)

~Nig = %—f A HA 35

E XAl 36 62 0000 HR 64 63 0000
(FDELTC) GHILTS)




TLAVRY =T ZRb—=F Xk

£H =8
INOUE TA

6 FEXT
I b—F X2 b
A H
60

6H22H

#AiE ENR

FADOELTC

2L b —F Xk
E8
62

MR BAEE
&ITS

3ALh—F AV b

TR OB
M/ ET.C

B T
ARROWS.TS




VR =T Z A h—=F X b
6 FEBT

6H15H

A % OmE | M OEE | ok Az
(INOUE.TA) (E/RpEEREA) (tennis egg)

o pE
0000 16 61

(lNOUE.TA)

M = 61 0000 60

(ERFERRR)

I E2 16 06 0000

(tennis egg)

5 A RO | HE RS | W W | k@ EA |

(79/ =T.C) (HB20) (F7IL75>2aTC) (3 R/SHBEHTG)

R ?./\\

AR RO oo 75 75 0000 | 2

(r9/ =T.C)

REE 57 0000 | ©00O 16 4

(HB20)

S

SR 57 0000 | ©00O 26 3

(Y7752 aTC)

AE BX | 9000 61 62 0000 | 1

(A R/SHBFHETG)

BRI DR & TT

OBM

Q@EENR

@EEGE (HGY — L# =Y — LB

@DrATL—0<vF (THAV )




TLAVRY)—F XA b—F A F

SIEZEES
(EREIRR)

&

(/9 / =T.C)

NN N

(tennis egg)

NHE  RE

6 FEEF
RESF—F X2k 68150
K H
64
# pHE
- = (INOUE.TA)
ol o2 KA EK
(T R/SHBAMTG)
2L b—F X b
i
76 (13)
BYE
IR B
>3 F3 A

(T7IL7Z>>a2TC)




TILAVRY—FT X b—F Xk

B 43[E
ANFAE L F
SH6ESH25H (1)
HO B 7 N 5 S g Z=F0
(LYNX TA) (T7ILT7522aTC) | TV vy o FZZRNE)
R 40 41 41 53
(LYNX TA) ©©©©
Lol 0414 OOOOQ | 451454
NEE =0
(7Y 7T ZRNE) 14 35 94W54@) ©©©©

RKEAFX a -ty 3V T VF
AMF— L=<y FD3tEy hTITWET,
LT —INAA—=ILTTRAVENZATL—7,




—EEI%

|
d

5118 (1)

it =K Tl B R EKER

(FHEDELTC) GC&1ILTS) G&IUTS)
i &K

e | QOO0 | 5342 42 41

FLER T g5on | 0000 | 1404
G5IUTS)
e ERBR

- 24 14 4140 | ©OOO
G&IUTS)




